C-T doubtnut

India's Number 1 Education App

MATHS

BOOKS - SUPER COMPANION MADE EASY

PROBABILITY

Exercise 14 1

1. Complete the following statements :

Probability of an event E + Probability of the event 'not E' =

O Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OK3R0HTqMBvv

2. Complete the following statements :

The probability of an event that cannot happen is

Such an even is called

o Watch Video Solution

3. Complete the following statements :
The probability of an event that is certain to happen is

_.Such aneventiscalled

o Watch Video Solution

4. Complete the following statements :
The sum of the probabilities of all the elementary events of an

experiment is _


https://dl.doubtnut.com/l/_OE4yf7bCj7Hl
https://dl.doubtnut.com/l/_VNs8tUQq70r6
https://dl.doubtnut.com/l/_0N3e0aHdInfK

o Watch Video Solution

5. Complete the following statements :
The probability of an event is greater than or equal to

_and less than or equal to

o Watch Video Solution

6. Which of the following experiments have equally likely

outcomes? Explain .

A driver attempts to start a car. The car starts or does not

start.

o Watch Video Solution



https://dl.doubtnut.com/l/_0N3e0aHdInfK
https://dl.doubtnut.com/l/_KWrgTpSEw3mE
https://dl.doubtnut.com/l/_GrDRH1A4rtRU

7. Which of the following experiments have equally likely

outcomes? Explain .

A player attempts to shoot a basketball . She/he shoots or

misses the shot.

o Watch Video Solution

8. Which of the following experiments have equally likely

outcomes? Explain .

A trial is made to answer a true- false question . The answer is

right or wrong.

° Watch Video Solution



https://dl.doubtnut.com/l/_WVnsyUF44gRj
https://dl.doubtnut.com/l/_bZMnLUxwMUvs

9. Which of the following experiments have equally likely
outcomes? Explain .

A baby is born. It is a boy or a girl.

o Watch Video Solution

10. Why is tossing a coin considered to be a fair way of
deciding which team should get the ball at the beginning of a

football game?

o Watch Video Solution

11. Which of the following cannot be the probability of an
event?

(A) 3


https://dl.doubtnut.com/l/_Tj96tn3c7CbY
https://dl.doubtnut.com/l/_RVDACWYaB34n
https://dl.doubtnut.com/l/_U13l36mQDfMS

(B) —1.5
(C)15%

(D) 0.7

O Watch Video Solution

12.If P(E) = 0.05, what is the prabability of 'not' E' ?

O Watch Video Solution

13. A bag contains lemon flavoured candies only. Malini takes
out one candy without looking into the bag. What is the
probability that she takes out

an orange flavoured candy ?

o Watch Video Solution



https://dl.doubtnut.com/l/_U13l36mQDfMS
https://dl.doubtnut.com/l/_fjA8rbijMLmV
https://dl.doubtnut.com/l/_Fv6Ou4EHyYgS

14. A bag contains lemon flavoured candies only. Malini takes
out one candy without looking into the bag. What is the
probability that she takes out

a lemon flavoured candy?

° Watch Video Solution

15. 1t is given that in a group of 3 students, the probability of
2 students not having the same birthday is 0.992 . What is the

probability that the 2 students have the same birthday?

° Watch Video Solution

16. A bag contains 3 red balls and 5 black balls. A ball is drawn

at random from the bag.


https://dl.doubtnut.com/l/_pOiTvCZIqnhK
https://dl.doubtnut.com/l/_c8IACKCZI73p
https://dl.doubtnut.com/l/_WxpPc358tch6

What is the probability that the ball drawn is

red ?

° Watch Video Solution

17. A bag contains 3 red balls and 5 black balls. A ball is drawn
at random from the bag.
What is the probability that the ball drawn is

not red ?

° Watch Video Solution

18. A box contains 5 red marbles, 8 white marbles and 4 green
marbles . One marble is taken out of the box at random.
What is the probillity that the marble taken out will be

red ?


https://dl.doubtnut.com/l/_WxpPc358tch6
https://dl.doubtnut.com/l/_DFcQXtPfiG6v
https://dl.doubtnut.com/l/_lYXVLAbuqTuE

o Watch Video Solution

19. A box contains 5 red marbles, 8 white marbles and 4 green
marbles . One marble is taken out of the box at random.
What is the probillity that the marble taken out will be

white ?

o Watch Video Solution

20. A box contains 5 red marbles, 8 white marbles and 4 green
marbles . One marble is taken out of the box at random.
What is the probillity that the marble taken out will be

not green ?

o Watch Video Solution



https://dl.doubtnut.com/l/_lYXVLAbuqTuE
https://dl.doubtnut.com/l/_iIv0uy4KDydU
https://dl.doubtnut.com/l/_1iLJYdZlWNqT

21. A piggy bank contains hundred 50p coins, fifty Rs. 1 coins,
twenty Rs. 2 coins and ten Rs. 5 coins . If it is equally likely that
one of the coins will fall out when that bank is turned upside
down, what is the probability that the coin

will be a 50 p coin ?

° Watch Video Solution

22. A piggy bank contains hundred 50p coins, fifty Rs. 1 coins,
twenty Rs. 2 coins and ten Rs. 5 coins . If it is equally likely that
one of the coins will fall out when that bank is turned upside
down, what is the probability that the coin

will not be a Rs. 5 coin?

o Watch Video Solution



https://dl.doubtnut.com/l/_JBwbZ3ctBJ1H
https://dl.doubtnut.com/l/_EX7HaIGPO3nG
https://dl.doubtnut.com/l/_NRyenQdEL5wi

23. Gopi buys a fish from a shop for his aquarium. The
shopkeeper takes out one fish at random from a tank
containing 5 male fish and 8 female fish . What is the

probability that the fish taken out is a male fish ?

o Watch Video Solution



https://dl.doubtnut.com/l/_NRyenQdEL5wi

24. A game of chance consists of spinning an arrow which
comes to rest pointing at one of the numbers 1, 2, 3,4, 5,6, 7,
8 and these are equally likely outcomes. What is the
probability that it will point at
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° Watch Video Solution



https://dl.doubtnut.com/l/_rC63JV95bEXW

25. A game of chance consists of spinning an arrow which
comes to rest pointing at one of the numbers 1, 2, 3, 4,5, 6, 7,
8 and these are equally likely outcomes. What is the
probability that it will point at

an odd number?

o Watch Video Solution



https://dl.doubtnut.com/l/_rC63JV95bEXW
https://dl.doubtnut.com/l/_I14V1I7cAAM1

26. A game of chance consists of spinning an arrow which
comes to rest pointing at one of the numbers 1, 2, 3,4, 5, 6, 7,
8 and these are equally likely outcomes. What is the
probability that it will point at

a number greater than 2 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_I14V1I7cAAM1
https://dl.doubtnut.com/l/_KzoyDZSWklL1

27. A game of chance consists of spinning an arrow which
comes to rest pointing at one of the numbers 1, 2, 3,4, 5,6, 7,
8 and these are equally likely outcomes. What is the
probability that it will point at

an number less than 9 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_RxkaQ9jemIOA
https://dl.doubtnut.com/l/_0FS8aN9XO2wj

28. A die is thrown once Find the probability that a prime

numbers will appear

o Watch Video Solution

29. A die is thrown once. Find the probability of getting

a number lying between 2 and 6.

o Watch Video Solution

30. A die is thrown once. Find the probability of getting

an odd number .

o Watch Video Solution



https://dl.doubtnut.com/l/_0FS8aN9XO2wj
https://dl.doubtnut.com/l/_ghIT4DFuDZPd
https://dl.doubtnut.com/l/_LSsWjJoVrJc7

31.0One card is drawn from a well - shuffied deck of 52 cards.
Find the probability of getting

a king of red colour

o Watch Video Solution

32.0One card is drawn from a well - shuffied deck of 52 cards.
Find the probability of getting

a face card

o Watch Video Solution

33.0One card is drawn from a well - shuffied deck of 52 cards.
Find the probability of getting

a red face card


https://dl.doubtnut.com/l/_113DfRiJf0YN
https://dl.doubtnut.com/l/_an0OrSmGoLEw
https://dl.doubtnut.com/l/_vThbfEjMDwqC

o Watch Video Solution

34.0One card is drawn from a well - shuffied deck of 52 cards.
Find the probability of getting

the jack of hearts

o Watch Video Solution

35. One card is drawn from a well - shuffied deck of 52 cards.
Find the probability of getting

a spade

o Watch Video Solution



https://dl.doubtnut.com/l/_vThbfEjMDwqC
https://dl.doubtnut.com/l/_icE79DX2HiDx
https://dl.doubtnut.com/l/_58hGBqORX4qN

36. One card is drawn from a well - shuffied deck of 52 cards.
Find the probability of getting

the queen of diamonds

o Watch Video Solution

37. Five cards - the ten , jack , queen , king and ace of
diamonds, are well - shuffied with their face downwards, One
card is then picked up at random.

What is the probability that the card is the queen?

° Watch Video Solution

38. Five cards - the ten , jack , queen , king and ace of

diamonds, are well - shuffied with their face downwards, One


https://dl.doubtnut.com/l/_fZajBwvRsWKa
https://dl.doubtnut.com/l/_75fyhNDOZuai
https://dl.doubtnut.com/l/_JKaODKhYcwHT

card is then picked up at random.
If the queen is drawn and put aside, what is the probability

that the second card picked up is (a) an ace? (b) a queen ?

o Watch Video Solution

39. 12 defective pens are accidentally mixed with 132 good
ones. It is not possible to just look at a pen and tell whether
or not it is defective. One pen is taken out at random from
this lot. Determine the probability that the pen taken out is a

good one.

o Watch Video Solution

40. A lot of 20 bulbs contain 4 defective ones. One bulb is

drawn at random from the lot. What is the probability that


https://dl.doubtnut.com/l/_JKaODKhYcwHT
https://dl.doubtnut.com/l/_SSB7aEe5jmaB
https://dl.doubtnut.com/l/_9iV5GHuTkZag

this bulb is defective ?

° Watch Video Solution

41. Suppose the bulb drawn in (i) is not dective and is not
replaced . Now one bulb is drawn at random from the rest.

What is the probability that this bulb is not defective?

° Watch Video Solution

42. A box contains 90 discs which are numbered from 1 to 90.
If one disc is drawn at random from the box, find the
probability that it bears

a two - digit number .

o Watch Video Solution



https://dl.doubtnut.com/l/_9iV5GHuTkZag
https://dl.doubtnut.com/l/_Fnrh1cu6wfpX
https://dl.doubtnut.com/l/_BigH3JXrTSbH

43. A box contains 90 discs. Which are numbered from 1 to 90.
If one disc is drawn at randow from the box. Find the

probability that is bears a perfect square number.

o Watch Video Solution

44. A box contains 90 discs which are numbered from 1 to 90.
If one disc is drawn at random from the box, find the
probability that it bears

a number divisible by 5.

o Watch Video Solution

45, A child has a die whose six faces show the letters as given

below :


https://dl.doubtnut.com/l/_fytNRA0qS2NC
https://dl.doubtnut.com/l/_eVSu0EhxXTVN
https://dl.doubtnut.com/l/_pTLSQ2ZsSGGr

A die is thrown once.What is the probability of getting i) Aii)D

o Watch Video Solution

46. Suppose you drop a die at random on the rectangular
region . What is the probability that it will land inside the

circle with diameter 1 m?

o Watch Video Solution

47. A lot consists of 144 ball pens of which 20 are defective
and the others are good. Nuri will buy a pen if it is good, but

will not buy if it is defective . The shopkeeper drawn one pen


https://dl.doubtnut.com/l/_pTLSQ2ZsSGGr
https://dl.doubtnut.com/l/_MbeFmbjrdeuD
https://dl.doubtnut.com/l/_TcJPXHCzsQ2Q

at random and gives it to her. What is the probability that

She will buy it?

° Watch Video Solution

48. A lot consists of 144 ball pens of which 20 are defective
and the others are good. Nuri will buy a pen if it is good, but
will not buy if it is defective . The shopkeeper drawn one pen
at random and gives it to her. What is the probability that

She will not buy it ?

o Watch Video Solution

49. Complete the following table :

Event: 'Sumon2dice’ 2 3 4 5 6 7 8 9 10 11 12

Probability % ;—6 31—6

[ & S |


https://dl.doubtnut.com/l/_TcJPXHCzsQ2Q
https://dl.doubtnut.com/l/_O7enm8og3ELZ
https://dl.doubtnut.com/l/_L9bg424OZpOp

[ @ Watch Video Solution ]

50. A game consists of tossing a one rupee coin 3 times and
noting its outcome each time. Henif wins if all the tosses give
the same result i.e, three heads or three tails, and loses
otherwise. Calculate the probability that Henif will lose the

game.

o Watch Video Solution

51. A die is thrown twice. What is the probability that

5 will not come up either time ?

o Watch Video Solution



https://dl.doubtnut.com/l/_L9bg424OZpOp
https://dl.doubtnut.com/l/_TNMwELFld8E5
https://dl.doubtnut.com/l/_Ie1ZKBbWODFO

52. A die is thrown twice. What is the probability that

5 will come up at least once?

o Watch Video Solution

53. Which of the following arguments are correct and which
are not correct? Give reasons for your answer.

If two coins are tossed simultaneously there are three
possible outcomes - two heads, two tails or one of each.

1
Therefore, for each of these outcomes, the probability is 3

° Watch Video Solution

54. Which of the following arguments are correct and which

are not correct? Give reasons for your answer.


https://dl.doubtnut.com/l/_YBGgu32cuF9j
https://dl.doubtnut.com/l/_IE31jZ6bsgFL
https://dl.doubtnut.com/l/_vzgeYUMVEgr1

If a die is thrown, there are two possible outcomes - an odd

number or an even number . Therefore, the probability of

1
getting an odd number is 3

° Watch Video Solution



https://dl.doubtnut.com/l/_vzgeYUMVEgr1

